
Assignment of Ch-4 H 

Q.1 What is century? 
Q.2  What were early humans primarily engaged in? 
Q.3 What is history?  
Q.4. What do you mean by Ice Age? 
Q.5. How the Archaeologists are different from Historians? 
Q.6. How is the beginning of a new era marked? 
Q.7. The last ice age was observed between______ and _____   years ago. 
Q.8 Write the different sources of history? 
Q.9. Full form of AD is _________. 
Q.10. What is a timeline? 
Q.11. What is Panchanga? 
Q.12.  ____are the impressions of plants and animals found in the layers of soil.  
 
Q.13. Assertion (A): The Gregorian calendar is widely used today. 
Reason (R): The Gregorian calendar is based on the Western understanding of time, with 
the birth of Jesus Christ as its starting point. 
a) Both A and R are true,  R is the correct explanation of A. 
b) Both of A and R are true but R is not the correct explanation of A.  
c) A is true but R is false. 
d) A is false but R is true. 
Q.14. Assertion (A): Early humans began practicing agriculture after the last Ice Age. 
Reason (R): The climate became warmer and more favourable for agriculture after the Ice 
Age ended. 
a) Both A and R are true and R is the correct explanation of A.  
b) Both  A and R are true but R is not the correct explanation of A.  
c) A is true but R is false. 
d)  A is false but  R is true. 
Q.15  Assertion (A): Historians use only written records to study the past. 
Reason (R): Written records are the most accurate sources of history.  
a) Both A and Reason R are true and R is the correct explanation of 
Assertion A. 
b) Both A and R are true but R is not the correct explanation of A.  
c) A is true but R is false. 
d) A is false but R is true. 
 


